PRACOVNÍ LIST
Počítání s celými čísly
9 – (7 - 13) =
(-8 - 3) – (7 - 15) =
6 – 15 + 7 – 10 =
-12 – (-7 - 10) =
14 – (-13 + 8) + (-52) =
(-10) – [(-8) + (-6)] – 20 =
16 + (-7) – (-10) – 31 =
-18 – 12 + 13 – 15 =
11 – (-4 - 8) + (- 30) =
(-5 + 12 - 20) – (-6 – 11 + 8) =

[bookmark: _GoBack]17 – 3 . (-9) =
(-8) . 6 – 7 . (-9) =
(6 - 13) . (-3) + (-3 - 4) . 5 =
7 . (-9 + 6) – 8 . (15 - 20) =
-12 + (-48) : 6 + (-7) =
81 : (-3) + (-72) : 6 =
23 – (-7) . 8 – (-36) =
(5 – 3 . 2) – (12 – 28 : 4) =
23 – (-17) – 6 . (-12) =
4 . (-13) – (-15) . 6 =
(2 - 4) . 2 – (-1 -3) . (-4) =
3 – 4 – (-5) – 6 + (-7) =
1 . (-2) + 2 . (-3) + 3 . (-4) =
36 : (-6) – (-72) : (-8) + (-45) : 3 =
29 . (-41) + 29 . (-59) =
